TDEANGCHATS.

LEAVING CIB BRI W T A0 w EXAMINATIO N, 1964,

MATHEMATIGSHeALGEBRA——PASS.

TUESDAY, 9th JUNE - Morning, 10 to 42.30,

All questions to be answered,
Mathematical Tables may be obtained from the Superintendent.

1. Bolve the gimul taneous equations
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(25 marks.)

2. (1) Factorise 2% + 41z — (a? — 132 + 12),

(11) 1f (= + 3) and (& + L) arve Tfactors of the expression z3 + px? + gx + 72, find
the value of p and the value of g and factorise the expression fully,

(25 marks, )

3. In an arithmetical brogression the fifth term is equal to the square of the second
term and the eighth temm is three times the thirad term., Find the first term and the
common difference,

Given that p, g, r are in geometrical progression, prove that log p, log g, logr
are in arithmetical progression,

(30 marks,)

L. A shopkeeper bought a certsin number of articles, each at the same price, for %0am, 0d.
He sold all except two of the articles and made one penny proflt on each one he snld, He
made a total profit of 9s8. Ld. Find how many artiecles he bought and the selling price
of each,

(30 marks, )

5. The first term of g geometrical progression ig 2. The difference between the sixth
and fourth terms is twice the difference between the fifth and third terms. Find the sum
of the first 10 terms,

If the sum of the first n terms is less than 2%°  find the largest value of n.

(30 marks,)

6« (1) Solve the equation x — NG — 1 =1,
(11) Express ¥7 — 2L in the form Nz — N7,

(ii1) Write down the value of each of the following:

1 L Lo
1og216, 1og%z, log%g, 1og(c_ (o 20 + 1),

9
(30 marks, )

7« Draw a graph of %% for values of x from +1 to +6 o

Using the same axes and the same scale draw a graph of z2 from z = 0 tox = L,
Find as accurately as you can from your graphs the value of ¥2L.

(30 marks, )




